Maths

1a. smatch the calculation to the comect
answer.

0,000 1,000 1.606

2 0 3F 5 1 1 1 1
+ 1 0 3 Three
B | thouvsond and
eightesn
= 3,108

1b. Malch the calculalion to the comect

MEWer.
s & 2
+ 3 7 35

iood 1,000 100

i 1w 10

s | 9,377

Hine thouwsand
C | and seventy-
seven

2a. what number is missing from the
calculahon?

5 4 3
+ 1 5 5
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2b. what number is missing from the

calculafion?
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3a. Complete the calcwlation.

ab. Complete the calculafion.

4a. Complete the calculation so that the
miissing digit leads to an exchange.
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4b. Complete the calculafion so that the
missing digit leads to an exchange.
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